Previous Page

| Main Menu

500 Series Menu

| Next Page

EXPLODED VIEWS & PARTS LISTS

| D> L

Ref.

(o2& IE V)

~

10
11
12

13
14

15
16
17
18

19
20
21
22

Part No.

6200720
4200490

4200700

3410920
3210730
3515620
3600891

3600892

3550440
3600851

3600852

3600870
3421060
4330310
3600751
3600752
3550440
3600761
3600762
3510720
3600980
4330260
3420240

3211150
2225204
6200410
6180040

Previous Page

511 DOOR VIEW

Description

Screw, #8-18 x 1/2 PH Truss HD
Standard Handle End Cap
Replacement Components
Extended Handle End Cap
Replacement Components

Egg Tray

Dairy Door Seal

Dairy Door

Dairy Compartment Inner End Cap
RS

Dairy Compartment Inner End Cap
LS

Door Shelf Retainer

Dairy Compartment Outer End
Cap; RS

Dairy Compartment Outer End
Cap; LS

Dairy Compartment

Dairy Compartment Center Divider
Dairy Compartment Assembly
Door Shelf Outer End Cap RS
Door Shelf Outer End Cap LS
Door Shelf Retainer

Door Shelf Inner End Cap RS
Door Shelf Inner End Cap LS
Door Shelf Support, Ref
Refrigerator Door Shelf

Door Shelf Assembly

Gasket Retainer, Side Ref,
47.438"

Door Gasket, Refrig.

Door Trim, Side; Ref

Screw, #8-15 x 3/8" Truss HD
Pop Rivet, 3/16x1/8 Grip

Main Menu

Ref.

23
24
25

26
27

28
29

30
31

32
33
34
35
36
37
38
39

40
41

42
43
44
45
46

4-14

Part No.

3450460
3420200
2225508
2225507
6200720
4200490

4200700

3450450
4131020

6200720
4130960
EH511

6110450
3211160
2225509
4131260
0182652
3550230
2225203
4130930
EH511

4130990
4131271
4131272
3550490
0182651
3420150
2225202
2225507
2225508

500 Series Menu

Description

Door Trim Clip

Gasket Retainer, 27.062"

Door Trim, Top LH/Bottom RH
Door Trim, Top RH/Bottom LH
Screw, #8-18 x 1/2 PH Truss HD
Standard Handle End Cap
Replacement Components
Extended Handle End Cap
Replacement Components
Molding Magnet - 3"

Freezer Handle Molding Assembly,
Fre

Screw, #8-18 x 1/2 PH Truss HD
Door Handle Assembly, Fre
Extended Full Length Handle Set
Bolt, 1/4-20 x 1/2" Whiz Lock
Door Gasket, Freezer

Door Trim, Bottom

Door Assembly, Fre

Freezer Door Support Rail, LH
White Plastic Plug, 3/4"

Door Trim, Side Fre

Door Handle Assembly, Ref
Extended Full Length Handle Set
Handle Molding Assembly, Ref
Door Assembly, Ref; RH

Door Assembly, Ref; LH

Dairy Compartment Retainer
Freezer Door Support Rail, RH
Gasket Retainer, 17.312"

Door Trim, Side; Fre RS

Door Trim, Top RH/Bottom LH
Door Trim, Top LH/Bottom RH

Next Page




Previous Page | Main Menu | 500 Series Menu | Next Page |

| D> B2 EXPLODED VIEWS & PARTS LISTS

511 DOOR VIEW

7
4

|
]

———,

4-15

Previous Page Main Menu 500 Series Menu Next Page




	next page: 
	500: 
	main: 
	Previous1: 
	2m: 
	2ma: 
	2mb: 
	2mc: 
	3m: 
	3ma: 
	3mb: 
	3mc: 
	4m: 
	4ma: 
	4mb: 
	4mc: 
	5m: 
	5ma: 
	5mb: 
	5mc: 
	8m: 
	8ma: 
	8mb: 
	8mc: 
	9m: 
	9ma: 
	9mb: 
	9mc: 
	10m: 
	10ma: 
	10mb: 
	10mc: 
	1m: 
	1ma: 
	1mb: 
	1mc: 
	1: 
	40: 
	3: 
	4: 
	5: 
	7: 
	10: 
	42: 
	9: 
	11: 
	13: 
	15: 
	16: 
	17: 
	18: 
	19: 
	20: 
	24: 
	43: 
	21: 
	32: 
	33: 
	45: 
	35: 
	30: 
	28: 
	44: 
	36: 
	38: 
	37: 
	23: 
	22: 
	29: 
	34: 
	26: 
	7m: 
	6m: 
	6ma: 
	6mb: 
	6mc: 
	7ma: 
	7mb: 
	7mc: 


